Kent / Sussex 2nd Xl v Middlesex 2nd XI

Second Xl 1-day Friendly (ECB) 2019, Blackstone Academy Ground, 11 April 2019 11:00

Kent / Sussex 2nd XI won by 147 runs

Batsman

LJ Wright

JM Cox

GHS Garton
AP Rouset

CJ Haggett
HD Ward

G Stewart
WAT Beer*
Imran Qayyum
WCHP Collard
TE Davis

JP Sarro
Extras

Total

FOW  Over
1-53  10.1
2-272 394
3-293 416
4-293 421
5-297 43.1

Batsman

LJ Wright
GHS Garton
AP Rouse
JM Cox

HD Ward

Bowler

ER Bamber

TE Barber

BC Cullen

GFB Scott

TN Walallawita
MB Harris

LBK Hollman

Batsman

AR Carter
LBK Hollman
JM de Caires
GFB Scott*
JLB Daviest
MA John

TN Walallawita
BC Cullen

V Patel

ER Bamber
TE Barber
MB Harris
Extras

Total

FOW  Over
1-9 1.1
2-29 43
3-71 83
4-128 191
5-141 20.6

Batsman

AR Carter
LBK Hollman
GFB Scott
JM de Caires
MA John

Bowler

GHS Garton

G Stewart

CJ Haggett

TE Davis

Imran Qayyum
WAT Beer

JP Sarro
WCHP Collard

Scorers: GJ Irwin & ND Smith
Umpires: HMS Adnan & A Shaikh

Kent / Sussex 2nd Xl

How Out

¢ Cullen b Scott

¢ Harris b Bamber
¢ Scott b Cullen
run out (John)

¢ Patel b Bamber

¢ Scott b Cullen

¢ Hollman b Barber
¢ de Caires b Barber
not out

not out

(b1,1b1,w12, nb6)
8 wickets, 50 overs

FOW  Over
6-312 44.5
7-321 455
8-367 49.2

Middlesex 2nd XI

How Out

b Stewart

¢ Rouse b Garton
Ibw b Imran Qayyum
¢ Rouse b Garton
run out (Garton)
b Beer

Ibw b Beer

b Beer

¢ Wright b Sarro
Ibw b Sarro

not out

(b1,Ib2 w13, nb8)
all out, 35.4 overs

FOW  Over
6-170 26.3
7-171  26.5
8-193 29.5
9-202 31.6
10-232 354

Weather: Sunny

Toss: Middlesex 2nd XI (Bowl) @
BRI
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